Math 100
Practice Test #2

Spring 2024

Name__

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) George invested $7500 for 3 years at a simple interest rate of 8%. How much interest did he earn?
T<Pr-k
T: 4 J5a0 (0-09)(3) = #leoo
A)$2000 B)$3500 @1800 D) $4500
2) Jane borrows $2500 for 2 ycars at a simple intcrest rate of‘l‘g“%. What is the total amount that must be repaid?

A:P(1srt)
A= #2500 (14 0-12(2)) = #4220 (1.24) = #3lc0

A)$5600 B) $6000 @3100 D) $4500

3) What is the amount that must be repaid on a $7200 loan for 5 years at 12% simple interest? How much interest
will be paid for the loan?

I: Pt A= P(1ert)
I ¥7200(012)(5) A= #7200(1r 0.12(5))

1= 9437 A= W7200(1.60): 811,570
A) $9865 must be repaid, $3250 of it is interest. 1,520 must be repaid, $4320 of it is interest.
C) $19,865 must be repaid, $4265 of it is interest. D) $12,560 must be repaid, $4539 of it is interest.



4) How many years will it take for $5000 to grow to $6500 if the simple interest rate is given a 3.2:7

3= ?-ré
150 =f5200 (0. 0372) t
$1%0 = 1ot =q.
. %o o t=9.4y¢s
About 9 years B) About 12 years C} About 8 years D} About 15 years

5) Find the future amount on deposit when $4400 is deposited for 10 years at 6% compounded semiannuall
P Yy P y

A= P R)™ A - ¥adoo (1. 8061)

0.06 \2:1°
A= #4400 (1+ zm) A= #74340.94
A=z %4400 (1. 03)
A) $5889.10 B)$6100.47 C)$8810.45 @-’946.89 E)$6574.50
6} Find the total amount on deposit when $9000 is deposited for 16 years at 10% compounded annually
. (4. 0\
Axe(i+g) A< #3a0( 4.595)
A ‘QQOQ?(I*O 10 )\-lb
N A= 41,355
A= #9000 (1. lOJ
A)$52,695 B)$45, 872 C)$23,560 (O)sn3s
71 Find the total amount on deposit when $2500 is deposited for 6 years at 16" compounded guartecly
A = P (‘ ¥ ‘C 2 ~
4. Az #2600 (2.5633)
= #2600 (14 28 )
A C A+ 40408.25
A= %260 (1.04)%
D) $3590 E)$3907.50

A) $4900 6408 26 C)$6090

8) A rich uncle wants to give his oldest niece $9000 on her eighteenth birthday. How much will the uncle have to
invest at 10% compounded semiannually to reach at least $9000if his oldest niece is having her tenth

birthday? A . P(\* C nk Q‘qom PM}}
P

Hqo0 = p (142 ) 2,183
49000 = P ( uos)“' #4122.77 = P
A)$6432.15 @4122.77 C)$3567.12 D) $5256.46



9) What is the effective rate given a nominal interest rate of 12% compounded monthly?

evecrie pae=s (14 §)"— | (¢e4)

. (no.n)'z"_l - (a0t
lz = ‘.1ZLB-‘= 0-1263
2.757,, B) $60 C)12.5% D) 122% Bj2ze

10) With all things being equal, what is the most important variable in determining a decision on an interest
bearing account?

A) The number of years money is in an account

he interest rate

C) The number of compounds per year

11) Which loan for a given amount produces a lower monthly payment, a 20-year loan at 10% or a 30-year loan at
10 %?

A) Not enough information given
B} The 20-year loan
he 30-year loan

12) Which loan for a given amount of money produces the higher amount of interest and total amount paid on a
loan?

10-ycar loan at 9%
or
20-year loan at 8%?

A) The 10- year loan
Not enough information given.
C)[The 20-year loan

13) The Smith family assumed a $120,000 mortgage for 30 years at 8% What is their monthly payment?

onT - ACH) 120,000 (21-%@) 4 800 . §80 | %80
- i D %0 |- 0. Qo®T
(-(ug)" - (1 2:99) 22~ (1. 006617) |- 0.021> 09

: = 4%20.37

A)$932.56 880.80 C)$569.24 D}$523.32

14) [n the problem 13, how much interest is paid on the 30 year loan?
A)$317,088 197,088 C) $38,544 D) $158,544

15) Which of the following loan’s monthly payment would pay more off (initially) from the principal versus the
@T?;ear loan B) A 20 year loan C) A 15 year loan D) A 30 year loan
ToTAL To PEfAY : #880. 80 ¥(2 ¥30: #317, 089
N WNTEEEST: B3\ 0B~ HI 20,000 $197,09%




16) A monthy payment on a 15 year, $250,000 loan, at 5% annual interest is $1342.05. How much money of the
first month's payment goes towards the principal?

A)$672.54 @300.38 C)$1041.67 D)$1342.05

MONTHL{ PAYMENT

)&42.05
\NTELEST PRANC 1AL (LoAM AMOUNT)
- ©0.05
#150,000 (-_1——-7_ #1342.05 - 4 1041. 67
= ®1041. 7 = 30 39



Answer questions 17-22 from the given credit history for the month of July.

Bob has made the following table to compute the finance charge for his March credit

card bill. Bob paid off all outstanding debts from his February purchases.

! Number of
. Date | Purchase | Balance | Days Total
___March 15-19 $200 | $201 ¢ 5 x> #llos
_ March20-26 | $17.44 | $217.44 |  “y" <7 | $1522.08
March 27-April 5 S $17.33 | ‘Z’ =2 10 | $2347.70
April 6-April 14 $19.99 | "%25476 | + 9 _1— $2292.84
17. What is the ‘X' value in the above table? 31 0AYS 16T 62
a. $201.00
. $150.00
$1005.00
d. $1067.00

18. What is the 'Y’ value in the above table?

.6
Y
c.5
d. 8

19. What is the value of 'Z" in the above table?

a. $214.77
b. $17.44
c. $217.44
(d) $234.77

20. What is the average daily balance for the account for the billing period?

$231.21 L) BT7167.062 4 531 2]
. $7167.62 3| = :
c. $31
d. $414.87




21. If the APR is 24%, what would the finance charges be on the account if not paid in
full for the month of March purchases?

a. $8.30 Y4231.21) (224). 442
b. $18.30 ( ) ( '?—)
c. $254.76
(d.)$4.62

22. To avoid finance charges for the month of March, how much should Bob pay at the
end of the billing period to his credit card company?

a. $18.30
b. $8.30
c. $4.62

@ $254.76

23. If a couple has a monthly payment of $874.66 on a $110,000, 15 year loan, how
much interest do they owe on the loan at the end of the 15 years?

a. $157,438.80 TOTAL TO [}.J:—_fA\{ = #9174 66 *iz2 x5 B I(57, 43¢ 20

b. $110,000.00 WTEEST: 8157 4% .80 ~ #l10,000= 447, 42%.90
@$47,438.80

d. $874.66

24, Which of the following home mortgage toans would you choose if you wanted a
higher monthly payment so you would not pay as much in interest over the life of the
loan to a bank?

a. a 25 year mortgage
b. a 30 year mortgage
c. a 20 year mortgage

15 year mortgage f%{

25. What is the simple interest rate be for an account to grow from $3500 to $4300 if the
interest rate in 4 years?

a. 1.4% I: Prt
Wi o 0 (9
d. 3.9%

¥900 = 414,000 (r)
140 _Ld—f-ootf'
1 =y
5.7 ¢

%

O





